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This paper consists of fifty multiple-choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
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4. Each item has four alternative responses marked (1), (2), (3)
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put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

9. You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.

10. Use only Blue/Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There are no negative marks for incorrect answers.

13. In case of any discrepancy in the English and Hindi versions,
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MANAGEMENT

PAPER-1I
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.
1.  Which one of the following assumptions is not related to consumer behaviour based on the

cardinal utility approach ?
(1) Rationality

(2) Diminishing marginal utility of money

(3) Utility cardinally measurable

(4) Maximization of satisfaction with limited money income

2.  Statement - I: A rectangular hyperbola shaped demand curve has uniform slopes on all
its points.

Statement - II : If the price elasticity is equal to unity, the marginal revenue corresponds to
Zero.

Code :

(1) Both the statements are correct

) Both the statements are incorrect
(3) Statement - I is correct while Statement - II is incorrect
(4) Statement - I is incorrect while Statement - II is correct
3.  Match the items of List - I with the items of List - II and find the correct combination :
List - I List - II
(Market Structure) (Nature of industry where prevalent)

(a) Perfect competition (i)  Aluminium and passenger cars

(b) Oligopoly (i) Public utilities like Telephones and Electricity

()  Monopoly (i) Manufacturing : T.V. Sets, Refrigerators

(d) Monopolistic competition (iv) Farm Products : Grains

Code :

(@ (b) () (d)

O O @ @) ()

@ ) O @ ()

@) ) (v O )

@) (@) @@ ) 0

4. Statement - I : In general, the NPV and IRR methods lead to the same acceptance or
rejection decision when a single project is involved.

Statement - II : The inconsistency in ranking of competing projects as per the NPV and IRR
methods lies in the implicit assumptions with regard to different rates of
returns on re-investment of intermediate cash flows.

Code :

(1) Both statements are correct

(2) Both statements are incorrect

( ) Statement - I is correct while Statement - II is incorrect

(4) Statement - I is incorrect while Statement - II is correct
o-ms [ [1HIHIATNAIN :
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Which one of the following is not covered in macro-economics ?
(1) Performance of the entire economy

(2) Price and output determination of a commodity
(3) Factors and forces of economic fluctuations
(4)

4) Monetary and fiscal policies

Match the below mentioned aspects with their main behavioural disciplines :

Aspects Behavioural discipline

(a) Leadership and stress management (i)  Psychology
(b) Group conflict management (i) Anthropology
() Cross-cultural analysis (iii) Sociology and Psychology
(d) Power (iv) Political science
Code :

(@ (b) (o) (d)
1 Gv) @ G ()
(2) @) () @ ()
G @ (v) @) (i)
@) Gv) (@) @) ()

The operant conditioning or learning approach to behaviour is based on
(1) Law of reinforcement (2) Law of effect

(3) Law of reproduction (4) Law of expectations

The principles by which the process of perceptual organization works was first identified by
Max Wertheimer in the year

(1) 1918 ) 1933 (3) 1924 4) 1923

The leadership theory of describes that effective group performance
depends on the proper match between the leader’s style if interacting with his subordinates
and the degree to which the situation gives control and influence to the leader.

(1) ‘Iowa State Leadership Studies’; Ronald Lippitt and Ralph K. White
(2) ‘Managerial Grid’; Blake and Mouton

(3)  ‘Trait Theory’; Stodgill and Barnard
(4)

4) ‘Contingency Model’; Fred Fiedler
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10. When one individual or group wins at the expense of another individual or group, it is
termed as .
(1) Zero-sum conflict (2) Non-zero sum conflict
(3)  Line-staff conflict (4) Formal-informal conflict
11. Which one of the following statements is not true in the case of Human Resource
Management ?
(1) It performs developmental function
(2) Employees are motivated by salary
(3) It is proactive in nature
(4) It consists of various sub-systems
12. Match the items given in the List - I and List - II and choose the correct option :
List - I List - II
(a) Personnel replacement chart (i) A chart prepared for each position in a
company to show possible replacement
candidates and their qualifications
(b) Job posting (i) The ongoing process of systematically
identifying, assessing and developing
organizational leadership to enhance
performance
(c) Succession planning (iii) Company records showing present
performance and promotability of inside
candidates for the most important positions
(d) Position replacement card (iv) Publicizing an openjob to employees and listing
its attributes, like qualifications, supervisor,
working schedule, etc.
Code :
(@ (b) (o) (d)
1) @ @ 3§) (iv)
(2) @) @ (@v) ()
() (@v) @) @ ()
4) (@) @v) @@ @0
13. Which one of the following training methods is not a managerial ‘on-the-job training
method” ?
(1) Coaching (2) Action Learning
(3) Job Rotation (4) Management Games
14. to deal with employee indiscipline provides the offender every opportunity to
state his side of the case.
(1) Punitive approach (2) HRD approach
Humanistic approach (4) Judicial approach
pa7s HIH\IHIIIHIHHI|||H|||\HH|H\I\HIII\I\H\ 6
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15. Which one of the following is a disadvantage of Critical Incident Method as a tool of
performance appraisal ?
(1) Difficult to rate or rank employees relative to one another
(2) Time - consuming
(3) Can cause disagreements among employees and may be unfair if all employees are, in

fact, excellent

(4) Employee’s appraisal results depend on employer’s choice of cut-off points

16. If raw materials are in store for 2 months, processing time 22 months, finished goods remain
in store for 15 days, debtors are allowed 60 days’ credit and credit received from suppliers of
raw material is one month, the operating cycle period is :
(1) 7 months (2) 6 months (3) 6% months (4) 5 months

17. Which of the following is not general disclosure requirement under Accounting
standard-14 ?
(1) Name and nature of Business (2) Description and number of shares issued
(3)  Accounting method followed (4) Particulars of scheme sanctioned

18. Under the Modified Accelerated Cost Recovery System (MACRS) an asset in the “5 year
property class” would typically be depreciated over how many years ?
(1) 4 years (2) 5 years (3) 6 years (4) 7 years

19. According to the concept of financial signalling, management behaviour results in new debt
issues being regarded as “ news” by investors.
(1) Non-Event (2) Bad (3) Risk Neutral (4) Good

20. The Exchange of interest and/or principal payment between two parties are called :
(1) Swap (2) Inthe money (3) Forward (4) Put option

21. From the following set of information, which combination is correct to define the process of
perception in order to understand consumer behaviour ?
(a) Selective Attention (b)  Selective Distortion
(c) Selective Retention (d) Selective Apprehension
Code :
(1) Only (a) and (d) are correct (2) Only (a), (b) and (d) are correct
(3) Only (b), (c) and (d) are correct (4) Only (a), (b) and (c) are correct

oams [ \ l :
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(1) =Ia9™ H1 M AR TET (2) I foRT T SRR @1 foeRer SR W
(3) oTuE T Wi fafy (4) Efga s & o
18. HeNfyd @Ra @ el gomet (MACRS) @ 3favia ‘5 aeta wedqfa a@'’ § fordl gfimedta =
fafyre &9 9 o =l ¥ steread fwan S ?
(1) 499 2) 5 @d (3) 6 ad (4) 7 Td
19. o< Hohad 1 STFLRON & STTER, T H07 AT § a9l R TRomHT o fererehi gr '’
" FHA AL |
(1) =T ed 2
(3) SifEd o gfd qeey O
20. < 9el %S9 A SR/ AU GAL I g o HEan § 2
(1) v (2) TS HA () TRaE (4) T IE
21. I & FAMARET 92 | ST o S8R il 995 & 3e¥d ° w0 (Perception) i Ufshal &l
ofeTfir e &g S IA-91 GAN WE 2
(a) IACHS A (b) =EATHe feoqoy
(c) SIAIHE T (d) =IICHS STTRIh
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oazss [N ) Papec




22.

23.

24.

25.

26.

When the company’s Salesperson contacts the customer from time to time with Suggestions
about improved uses of the product or additional new range of products, then it is
called as :

(1) Proactive Marketing (2) Accountable Marketing
(3)  Reactive Marketing (4) Relationship Marketing

A state of demand where major part of the market dislikes the product and may even pay a
price to avoid it, may be called as :

(1) Declining Demand (2) Overfull Demand
(3) Negative Demand (4) Distractive Demand

When the Companies pay less attention to its own costs or demands and bases its price
largely on competitors” prices, then it is known as :

(1) Value Pricing (2) Going rate pricing
(3) Image pricing (4) Psychological pricing

From the given columns which of the combinations best describe the concepts of product
hierarchy ?

(a) Need family (i)  The core need that underlines the existence of a product
family
(b) Product family (i) Group of items within a product line that share one of

several possible forms of the product

(¢) Product class (iii) Group of products within the product family recognized
as having a certain functional coherence

(d) Product line (iv) All the product classes that can satisfy a core need with
reasonable effectiveness

i), (b) - (iv) and (c) - (iii) are correct
(2) (b) - (iii) and (c) - (iv) are correct
(3)  Only (b) - (iv), (c) - (iii)) and (d) - (ii) are correct
(4)

(@) - (), (b) - (iii), (c) - (ii) and (d) - (iv) are correct

An input (such as variable cost per unit or fixed cost) for a model is an example of a(n) ?
(1) Stochastic variable (2) Decision variable

(3) Algorithm (4) Parameter

oazs | 1
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23.

24.

25.

26.
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27. Match the items of List - I and List - II and indicate the correct code :
List - I List - II
Operations Management Activities
Functions
(a) Capacity planning (i)  Setting policy guidelines and procedural details of
making a watch
(b)  Quality Management (i) The steering of the cars loaded in trucks reaches the
assembly line every morning and evening
(c)  Process Design (iii) Establishing rules and policies of which tablets are
to be accepted and others not to be
(d) Location and Layout of (iv) A hospital can largely serve 500 patients at any time
facilities
Code :
@ (b) () (d)
(L) (v) (@) @) (D)
(2)  (v) () (D) (i)
(3) (@) () (@) (v)
@) @ O G )
28. Car enters the drive-through of a fast food restaurant to place an order, and then it proceeds
to pay for the food, and pick up the order. This is an example of :
(1) a multiphase system (2) a multichannel system
(3) a multiguaue system (4) a multiphase and multichannel system
29. A manufacturer is considering five alternative locations for setting up its factory. Using the
information given in the table obtain a ranking and tell the best location for setting the
factory ?
Table :
Factors Relative | Location | Location | Location | Location | Location
Weight 1 2 3 4 5
Availability of
0.28 20 40 55 35 60
Infrastructure
Size of Market 0.18 30 30 80 60 40
Industrial Relati
DOTATREREON 015 80 30 50 60 50
Climate
Tax Benefits 0.09 80 20 20 20 10
Availability of
0.09 70 70 50 50 45
cheep labour
Nearness to port 0.20 20 40 60 50 90
Code :
(1) Location 2 (2) Location 3
(3) Location 4 (4) Location 1 and Location 5
o-ms [ [1HMIATIAI 2




27. O - 139 et - 1 1 911 o1 T i T wet 990 94
gt - 1 g - 11
YeETe Weos dael e nfafafat
(a) & S () =St fmfor o Hfara feen- e aon gk =R faifa
EXGIN
(b)  ToTerl GeEA (i) i B el gE BRI 1 A ydsh gag 3R ImW HHHY
H qgadt €|
(c) gfskan yrey (il) TTAACH hl TR LT AT 34 I T HA & G989 H
frem i ifaar zenfya e
() gfamel &1 @ R @ (iv) TH Ta fRE off 99 6 dR W 500 AR H
TR Y Tehell |
< :
(@ ®) (o (@
(1) (@v) (i) (@) (i)
(2) (v) (1) (i) (i)
@) (@ @) @ (@)
(4) @) @@ @) ()

28. T HR IS A 3G TH FR2 TS W& & A6 TR WH 7 HTH o WM’ H Ja9 HIdt 7 3R 389
IS W | 3G T F 3R ATER YT w3 & faw o1t g ot ® 1 e freAfafed § & feg
SR © ?

(1) Te 9g-==01 Yot (2) e Sg-=Ad gomed
(3) U Fg-HAR oAt (4) TUH Fg-=R0T AR Tg-TTA JUmedt

29. U fafafar sTo1 wR@m Tnfud #37 ?q e dehfeus el W faur X w1 R § & T
SRR T STAM T U Tk LT Ut i 3TR FREM St T /g Faiad Te 91Ty |
HROT :

S AUEE | | ww | we | e | e
Y 1 2 3 4 5
ATHEAT 1 STASHAT 0.28 20 40 55 35 60
S a— 0.18 30 30 80 60 40
3Tenfites Geie amaeRer|  0.15 80 30 50 60 50
S — 0.09 80 20 20 20 10
& g9 i TS 0.09 70 70 50 50 45
N S 0.20 20 40 60 50 90
e :
1) a2 (2) A3 (B) T4 (4) %1 3RTAS5
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30. If the project completion time is normally distributed and the due date for the project is
greater than the expected completion time, then the probability that the project will be finished
by the due date is :

(1) undeterminable without more information

(2) less than 0.50

(3) equal to 0.50

(4) greater than 0.50

31. Match the items of List - I with those of List - II and choose the correct code :
List - I List - II

(a) The probability of two events occurring (i) Marginal probability
together or in succession

(b)  The probability of occurring one event (i) Posterior probability
given that another event has occurred

(c) The probability of occurring a single event  (iii) Subjective probability

(d) The probability revised in the light of (iv) Joint probability
additional informations

(v)  Conditional probability

Code :
(@ (b) (o) (d)

O ) v O G

@ ) Gv) @) )

@) ) (v @) 0

@ @ © 0 @

32. Consider the following statements relating to correlation and regression analysis :
Statement I :  Correlation is independent of change of scale, but not of origin
Statement II :  Correlation denotes co-variability between the variables
Statement III : Regression is a relative measure of relationship between variables
Statement IV : Regression is independent of change of origin but not of scale
Choose the correct option :

(1) Statements I, II and IV are correct
(2) Statements II, III and IV are correct
(3) Statements II and III are correct

(4) Statements II and IV are correct

33.  Which of the following is not a technology driver for an information system ?
(1) Knowledge asset management (2) Enterprise applications
(3)  Object technologies (4) Networks and internet

34. ‘Negandhi Estafen’ is recognised as a good model for the analysis of :

(1) Organisational effectiveness (2) Management effectiveness
(3) Organisational growth (4) Organisation behaviour
o-ms [ [1HIHIATNAI 1




30. 3fg a1 quf w3 1 999 9M= &9 | foafia e s @ o ufesn &g faa fafy sae qof
M ! FHAETY | @AYk 7, @ aREs & e fafy 9% ol 89 6 dered @@ § 2
(1)  Afafaa ga & fom freifa & 1 S gt §
(2) 0509 &H
(3)  0.50 % S
(4) 050§ s
31. Gt - I 3R Gt - 11 & Tal 1 e ST ok 9@ §e 1 =997 &
At - 1 Tt - 11
(a) T FAIS % U WY A1 hiHE €9 § T I qEATEA () eI el
(b) forelt TH = FHR! TS o YR W 7= FA (i) TvETASd] HEHTS]
RERCIRISIC )
(c) Twel Tha =1 % B &1 qRTEd (iii) oo wrTea
(d) STfafRed Faretl & YR W FINfyd Feureaan (iv) HIH FETAAl
(v) ER g
e
(@ (b)) (o (d)
1) () (v) @ (i)
2 (v) (v) @) (i)
G) (v) (v) (i) ()
4) @) (v) @ (i)
32. iR SR He-Trery foverw & Hay # ffafad w four it
HYT - [: HeHdY AMGS-IRedd § WA Bl ¢ Ug Ja | wasl T g |
HYT - 11 : Tegay qRafdal & e Hg-IRad-adr g ¢ |
A - 111 : Sfaree gfafdi & o= % Hee 1 |mafaes =3 2 |
HYA - IV : JFe ga-9Radd & @ 2l ¢ TRy AMge-IRadd ¥ @&ad T8 ol |
T foshew w1 9 HIT
(1) AL 11 TS IV EE ) (2) @Y II, 111 T8 IV E& )
(3) YT I TS III 9t | (4) HITI TSIV T T
33. Tt g yonelt & o freafafea ® & F-91 dw-ist dames @ § 2
(1) M 9w geiem (2) ITH STIIAN
(3) &g rEnffwar (4) g 3R e
34. ‘Tt wRfe’ fefafed 9 9 foeg favemm & fau o= Ared & 9 § ST ST € 2
(1) BUESIR CAICEAIRG]] (2) YEHAHE FHTSRIT
HieATcH faehT™ (4) G HTTR
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35. A self contained internet program designed to be used in a specific environment is :
(1) Active - X (2) Application programme interface
(3) Applet (4) Artificial intelligence
36. A company manages multiple strategies for it's multiple markets and multiple products
through which one of the following ?
(1) Strategic Planners (2) Strategic Business Units
(3)  Strategic Windows (4) Strategic Technology
37. Match the items of List - I with List - II :
List - I List - II
(a) Technical Innovation Strategy (i)  Foreign producer gives a straight copy
(b) Product Adaptation Strategy (ii) Perceived and demonstrable superior
products
(c) Availability and Security Strategy (iii) Modifications to existing products
(d) Total Adaptation and Conformity (iv) Overcome transport risk by countering
Strategy perceived risks
Code :
@@ (b)) (o (d)
M () @ 0
(2) @) () (@) @
G @ @) 3§ (iv)
4) @@ @) @ (v)
38. Only diversified company with a balanced portfolio can use its strengths to truly capitalise
on its growth opportunities. Hence the balanced portfolio contains :
(1) Stars whose high share and high growth assure the future
(2) Cash cows that supply funds for their future growth
(3) Question marks to be converted into stars with the added funds
(4) All of the above
39. Porter’s Generic Strategies identified three basic catagories of strategies to include which one
of the following combinations ?
(1) High Cost Producer, differentiation and cost control
(2) Low Cost Producer, differentiation and focused Niche
(3)  Specific strategic issues, vertical integration strategies and supply strategy
(4) Managerial resources, profitability and focused Niche
o-ms [ [1HMIATIAI 1




35.

36.

37.

38.

39.

ot fafire afeaw & ygaa fore s & fa sifyefeud w@-fafea sexie Tom # -
1) TRT-X (2) Ty UM e
(3) THeRE (4) i@ Aem

g HETAT 37T TG-TSR IR g SR o foC Ig-eta1sll =1 gorgd 10 § ¥ fre w& o Aremm
Y HIA T2

(1) Ea dadt fases (2) TS WaH SAaEE HEAl
() Heta Had fae (4) T GaH GrENfeR!
el - [ Al &l Gl - 11 A1 § gAfad <
qeft - 1 Tt - 11
(a) TRHIRT T T () foceh s T did ufa 3@ €
(b) IR FTHAT HRAINT (i) TRERfead IR JS¥M 4 9 3R
(c) Ul SR H&T HAA (iii) forermT Scurel ® SN
(d) FHA AR IR I HEHIT (iv) dReRfeda SifE™ 1 YfidehR i gC aRae
SiftEd R farsr 9Tt hE

e :

@@ (b (9 (d)
1 @) (@) @ G
(2) G () Gv) ()
@) @ (@) @) o (Qv)
4) @) @) @ (@0

T Gqfad Temiferdl o W hae fafasigd a1 &l STa1 i 1 START forehm™ STaE 1 ary
M F fau X Tkt T A Hfera dwiferl o s g € 2

(1) VR St 3= yriert oiR 3= fasm wfasr 1 svad 3t 2|

(2) Y TS SN Sk et o % ferw fafeel @t emgfd @wa €

(3) Wafta faferel & e yva fogl it wr A ufafda fowan sma 21

(4) STF |

TR T SR e Fefafad fof 97 qo Seeaei & Sfrl &t 789 i ¢ 2
(1) = AW e, faueT o @ feEm
2) = arma Icace, faues R da<ia ae |

() fAfdw ETa dat gz, e T FETEdl AR i ZEta |
(4) TEHHT HRO, ATTIGA IR Hohad TR
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40. The stages of corporate development provide a way for the strategic manager to analyse :

1)
(2)
®3)
(4)

Personal objectives, entrepreneurial skill
Managerial abilities, opportunity and threats
Frequently encountered version, functional management

Competitiveness, aggresiveness

41. Which of the following are included as external factors affecting industrial sickness ?

(@)

Changes in fiscal and monetary policies
Price and distribution

Non-availability of inputs

Industrial relations

Capital market fluctuations

(), (b), (c) and (d) () (b), () (d) and (e)
Only (), (b) and (c) 4) (), (), © () and (e

42. Statement (I) “Motivation is a continuous, complex and dynamic process”.

Statement (II) “As compared to other industries, extra motivation is required in service

~ o~~~
N

e~
N N N’ N

sector industries”.
Statement (I) is correct but Statement (II) is incorrect.
Statement (II) is correct but Statement (I) is incorrect.
Both, Statement (I) and (IT) are correct.

Both, Statement (I) and (IT) are incorrect.

43. Assertion (A) : The function of entrepreneurs is to reform or revolutionise the pattern of

production by exploiting an invention or, more generally, an untried
technological possibility for producing a new commodity or producing an
old one in a new way.

Reasoning (R) : Lack of innovations will usually reduce the life span of a product and/or

service.

Code :

1)

D-1715 HW”H“”

Assertion (A) and Reasoning (R), both, are correct, and (R) is correct explanation
of (A).

Assertion (A) and Reasoning (R), both, are correct, but (R) is not right explanation
of (A).

Assertion (A) is correct, whereas Reasoning (R) is incorrect.

Reasoning (R) is correct, whereas Assertion (A) is incorrect.
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40.

41.

42.

43.

frTg faem & =R01 ETa yoras &l fhe favervll 61 T T 3Uers Hd € 7
At @18, ITH e i

)

)
(3) W RER 3T JTel TR, FATHE Ja-eH
(4)

yfqeaeicaendl, SRt

STrENfiTeh EIU Y g HE A S FRHT H A € 2
TSI qen wifseh Afadl § a5

e iR faaa

(c) TTYIH I SFTSUCTsH]

d) it ey

e) TSI ISR H 3AR-=e[™

) (@), (b), () 3R (d) @) (b), (0), (d) 3R (e)
3) 9 (a), (b) 3 (c) 4) (@), (b), (o), (d) &R ()

®YA (I) : AR Faq, Sfew AR T qfshan g1
HYA (I1) : ** 3T ST BT o |, e & & el § tfaftad IR i smavershar et 81
(1) YA (1) 9 T W HYA (1) T |

(2) YA (II) FEI T T AT (I) T ¢ |
3)  ®mU (I) 3R (II) AT T 1
(4) I () 3R (1) < e © |

ARRIT (A) : ST 1 FE FRE T I%q F1 SAURA FH & faq Aoan et QU a5 &
3T T3 dk W KW & g, enfassr o @ 9 sy 9= Iad
TR FEITEATST o HIEAH | AR o Tk | YR HLAT SAE1 39 shifd AT
gl

HIT (R) : TIYSAT o 3T9E | forelt Ic1g 3TR/ 1@ |al i STafs |Hm=Iaal w7 g S |
e :
(1) SRR (A) 3R H/IOT (R) THI T& T 3R (R), (A) T T == B

(2) AFRAT (A) SR HROT (R) AT F&I & T (R), (A) T FE AT T8 2 |
(3) AfUFRAT (A) TR & Sk HIUT (R) Ted T
(4) RWUT(R) TE § Safh AMURYT (A) ToTd B
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44. A business idea becomes a good business opportunity when it covers which four of the
following ?

(a) Attractiveness (b) Foreign Collaborations

(c) Political Support (d) Timeliness

(e)  Durability (f)  Value addition to end user

Code :

(1) (@) (), (@) and (e) ) (@), (®), (@) and (9

(3) (), (), (e and (f (4) (b)), (@ and (§

45. Which of the following are correct for an entrepreneur ?

(a) is an independent person

(b) makes his/her own decisions

(c) has the opportunity of realising dreams

(d) has good financial strength

(e) has undergone a systematic business training

(f)  has immense job satisfaction

Code

(1) (), (b), (c) and (d) (2) (), (b), () and (e)

(3) (@) (), ©) and (9 4) (@ (), [ and (9

46. Assertion (A) : Social audit has been defined as a commitment to systematic assessment of
and reporting in some meaningful, definable domain of the company’s
activities that have social impacts.

Reasons (R) : The Companies Act 2013 has accorded statutory recognition of the social
responsibility of a corporate entity and gives option to provide a percentage
of profit for the purpose as per discretion of the board.

Code :

(1) Both (A) and (R)are correct, and (R) is the right explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the right explanation of (A).

(3) (A) is correct but (R) is not correct.

(4) (R) is correct but (A) is not correct.
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44. HTE FEEER AR d9 A= AR AT 97 Sl & oo 398 THfaiEd § 9§ -9 9]

forgroaTe gt § 2

(a)  STTSRTUTT (b) faceht weam

(c) TSHIfdsw waedq (d) wHEATTSAl

(e) I (f)  sifam g & fae goa a4
%<

(1) (@), (b), (d) 3R (e) 2 (@), (), (e) R (f)

3) (@) (d) (e) 3 (D) @) (b), (©) () 3 ()

45. TF Sl & fod frefafea & @ FH-1 fawey 98t 272

(a) TIdA Al BT

(b) TF A Fofa war/ it 1

() SU% UM 7YY HUAT shl IR LA I TG Bl § |
(d) STF TG T T qreRd Bt 2 |
(
(

e) AT E Y AEHITIH FeIv-U B T
f) SHH A FE T W Ty At 7

e :
1) (@), (b), (c) T (d) (2) (@), (b), (c) TH (e)
(3) (), (b), (c) TTH (f) 4) (a), (b), (d) TIH (f)

46. IMMURAT (A): THINTE @1 TN I FHEAT & 3T FEAKAT! STTeRT MHITSER TR TSl 8, &
FO AT, TRATH A & 1 FHHeIG Sher AR Tfdeed T L 1 el
¥ ®q ¥ gftenfia feran Sman ¥

e (R) : FrOT AfHfEm, 2013 7 9 $HE T IS ST i Wifateew 7=
YSH I § 3R A1 & fads & IR 39 ¥ & fow ey &1 us = wfawma

YT YA 1 fashey A1 eh {dl %l

) (A) IR (R) ST & &, IR (R), (A) FT W&l =M€ B

) (A) @R (R) I W&, AFFT (R), (A) T W AT TR HAT B |
3)  (A) W& ofed (R) W& TR 2

) (R) &l € afed (A) 9t &
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47.

48.

49.

50.

Which one of the following of ‘Immanuel Kant’s” Principle, known as categorical imperatives,
is a guide to managerial action ?

(1) The managers should be open to share his/her corporate secrets, individual traits with
external agencies.

(2) The managers be free and open to share his individual knowledge and experience for
community’s gain.

(3) A person’s action is ethical only if that person is willing for that same action to be taken
by everyone who is in a similar situation.

(4) A person always treats another human being simply as a means to an end.

Teleology in ethics supports which one of the following the most ?

(1) Itis duty-based ethics and measures whether an action is right or wrong.
(2)

(3) It focuses on purpose of each action and judges the consequences of an action.
(4)

It measures whether the results of the actions are right or wrong.
It focuses on neutrality and fidelity of an action.

Assertion (A) : Deontology is duty-based ethics. It is an approach to ethics that addresses
whether the motives behind certain action are right or wrong.

Reason (R) : Deontology focuses on whether the results of the actions are right or wrong.
Code :
(1) Both (A) and (R) are correct

(2)  (A) is correct and (R) is the right explanation of (A)
(3)  (A) is correct but (R) is not the right explanation of (A)
(4) Both (A) and (R) are incorrect

Assertion (A) : Rules notified by the Ministry of Corporate Affairs (MCA) Sec. 149 of the
Companies Act mandates that a listed company having a paid up share
capital of ¥ 100 crore or more shall appoint at least one woman director on
its board.

Reasons (R) : The corporate entities wanted to enhance gender equality and woman
empowerment in corporate governance and company administration.

Code :

(1) Both (A) and (R) are correct.

) (A) is correct and (R) is the right explanation of (A).
(3)  (A) is correct but (R) is not the right explanation of (A).
) Both (A) and (R) are incorrect.
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47.

48.

49.

50.

frefafaa & @ sH7e1@ wic #1 FH-3 fagid i e stferld & ®1 § S S € iR S yeras i

1 1 AnieEE 7 2

(1) Yol o 9Tel Usitaal o |1 Fm daef Mo STe, Safads asml ot TREfRe STeH-
TeH % faT FoR e =fen

(2) YIHE HI HISH & 9 % A€ T FAfRTTR T AR SIS Fl TREIRH TRH-TSH FH 6
fere s ot Jar & =nfew |

(3) Tt safad o1 et asdt Aok 21 € 519 9 safa g = ¢ o gum fafa # yde safa a@
T M |

(4) I AfFd gHI ER SAfa FI B e F Wied F 9§ @@ ¥

Hfaemes # SryamER fFrefataa § 9 fras qa@ stfus grefs st 2

(1) 38 -3 T € SR ST 1901 § T h1E w1 Fal § 91 7TeAd |

(2) =8 A § fom % % aftomy 9@ € 4 e

(3) I% UAF M % ILIT W A hivgd Hal § iR wEf & qRomH #1 sThe wHa €
(4) = foret w1 FToaeran SR FAUREVE WA FHeid S ¢ |

ATURAT (A) :  FINE FHeieg- el ifaemes § 1 7 ifqemre & ufq wh vEn gfeswon § s
T 91 R &H <1 ¢ 6 fRe ffyea o &1 yoem et § = e |

T (R) : FHTAITE 30 &1 T &AM <ar & for el o1 giom @€t & =1 e |

%< :

1) (A) 3R (R) T F&l |

2) (A) & R (R), (A) T T =TS T |

(3) (A) FEl € Afh (R), (A) T T AT Tl Al ¢ |

(4) (A) 3R (R) S Terd ¥

FURT (A) :  FHRURE 1 AT FRI A aa i, weot eifaf=m &t 9w 149 9% st
w1 © fF T gEas HE, et 989 gt % 100 IS a1 399 A6 7 98
3T 1€ H A | FH T dieal Mok i i &

e (R) : FRUNE TeRr SmeT felm Tamar TR wRURe ImeH iR ot gemed ¥ afeensti

T TR0 ITed o |

e :

(1) (A) &R (R) < HE &

(2) (A) TE ? R (R), (A) T TE AR FIAT T |
(3) (A) WE B AR (R), (A) i T =ATEA T & |
(4)  (A) &R (R) <l TTerd |
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